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By mathematical induction,
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for all integers 1 =1
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Evaluate Z(lOk - 3k2) . Your final answer must be a number (not involving arithmetic operations). SCORE: /4 PTS
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If £(x)=x",expand and completely simplify the difference quotlent h) /(%) O SCORE: ____ /4PTS
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Expand and completely simplify the complex number (3 —2i)’ . SCORE: ____ /7PTS
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Find the 7" term of (85 —11g)” . Your final coefficient may be in factored form as shown in lecture. SCORE: /5PTS

L&D ’“eua |

~ ﬁu (?ﬁ% (*H @ PLvs @ i YOourR- FINAL-

L' 19! : ArdSveErz 1S POSTIVE
: > 242322 )d_%g 19| b &
Ob A nZ !Wlx gt

69 @ O

~- GG

= AL N = w (,‘,",-" , L.

W

] _ ;__IL_.—\




